
ABM COLLEGE, JAMSHEDPUR
SUBJECT : ACCOUNTANCY

XII INTERMEDIATE SECOND INTERNAL EXAM, 2019

Time : 3 hrs.Full Marks : 80

lkekU; funsZ'k (General Instruction)
1½ lHkh iz'u vfuok;Z gSaA (All questions are compulsory)
2½ mikar ds vad iw.kkZad fufnZ"V djrs gSaA

(Figures in the margin indicate full marks)
3½ fdlh Hkh Hkkx dk mÙkj ,d gh LFkku ij nsaA

(All parts of question should be attempted at one place)

1- vk;&O;; [kkrk gS (Income & Expenditure account is a -)

a) O;fDrxr [kkrk (Personal Account)

b) okLrfod [kkrk gS (Real Account)

c) ukeek= [kkrk (Nominal Account)

d) buesa ls dksbZ ugha (None of these)

2- vkthou lnL;rk 'kqYd gS %& (Life membership fee is :)

a) iwathxr izkfIr (Capital Receipt)

b) vk;xr izkfIr (Revenue Receipt)

c) lEifÙk (Asset)

d) buesa ls dksbZ ugha (None of these)

3- lk>snkjh lays[k dh vuqifLFkfr esa ykHk&gkfu dk foHkktu
a) lk>snkjksa ds chp cjkcj gksxk

(Equally distributed among partners)
b) lk>snkjksa ds iwath ds vk/kkj ij gksxk

(In the ratio of partners capital)
c) ykHk&gkfu dk foHkktu ugha fd;k tk,xkA

(No distribution of profit -loss among partner)

d) buesa ls dksbZ ugha (None of these)

lgh foDyi dk p;u djsa (Choose the correct option) (1X8=8)
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26- tså dså fyfeVsM dh pkyw ifjlEifÙk;ksa ,ao pkyw ns;rkvksa dh
fuEufyf[kr  gS % (The following is the positions of current assets &
current liabilities of J.K. Ltd.) (8)

nsunkj
(Debtors)

ysunkj
(Creditors)

cktkj izfrHkwfr;k¡
(Marketting securities)

iwoZnÙk O;;
(Prepaid expenses)

20,000 15,000

10,000 8,000

6,000 8,000

3,000 7,000

Particulars 2017 2018

o"kZ ds nkSjku dEiuh dks :å 50]000 dh gkfu gqbZA lapkyuksa ls jksdM+
dh x.kuk dhft,A (The company incurred a loss od Rs. 50,000
during the year. Calculate cash from operations.)

or

dEI;wVjh�r ys[kkadu iz.kkyhLFkkfir djus ds pj.kksa dk o.kZu dhft,A
(Discuss the steps for establishment of computerised
accounting system)
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4- izkfIr vk; % (Gaining ratio :)

a) u;k vuqikr&iqjkuk vuqikr (New ratio - Old ratio)

b) iqjkuk vuqikr&u;k vuqikr (Old ratio - New ratio)

c) R;kx vuqikr&iqjkuk vuqikr (Sacarificing - Old ratio)

d) buesa ls dksbZ ugha (None of these)

5- lkekU; ykHk ij vkSlr ykHk dk vkf/kD; dgykrk gS %
(The excess of average profit over normal profit  is called) :

a) vlkekU; ykHk (Abnormal profit)

b) vf/kykHk (Super profit)

c) LFkk;h ykHk (Fixed profit)

d) buesa ls dksbZ ugha (None of these)

6- lkoZtfud dEiuh esa lnL;ksa dh U;wure la[;k gksrh gS (The
minimum  number of members in a public limited company is) :
a) 20 b) 50 c) 07 d) 200

7- ,d dEiuh ds va'k/kkjh gksrs gSa% (Shareholder of a company are) :

a) Lokeh (Owners) b) ysusnkj (Creditors)

c) izca/kd (Manager) d) buesa ls dksbZ ugha (None of these)

8- _.k&i= dEiuh dk gksrk gS% (Debentures are company's) :

a) nh?kZdkyhu _.k (Long term Debt)

b) e/;dkyhu _.k (Medium term Debt)

c) vYidkyhu _.k (Short term Debt)

d) buesa ls dksbZ ugha (None of these)

    fuEufyf[kr dFku ^lR;* ;k ^vlR;* gS crkb;sA     (1X6= 6)
(State whether the following statements are "True" or "False")

9- Dyc }kjk izkIr vkthou lnL;rk vkfFkZd fpV~Bs esa fn[kk;k tkrk gSA
(Life membership fee received by club is shown in balance sheet)

10- lk>snkjh lays[k ds vHkko esa lk>snkjksa ds _.k ij 4% p.a. C;kt dk
Hkqxrku fd;k tkrk gSS% (In the absence of partnership deed, 4% p.a.
interest on partners loan is paid by the firm)
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25- fuEufyf[kr lwpuk ls nsunkj vkorZ vuqikr dh x.kuk dhft,A
(Calculate the debtors turnover ratio from the following
information) : (4)

a) dqy foØ; (Total sales) 4,00,000

b) udn foØ;
(Cash sales) 20% of total sales

c) 1-1-2018 dks nusnkj
(Debtor on 1.1.2018) 40,000

b) 31-12-2018 dks nusnkj
(Debtor on 31.12.2018) 1,20,000
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23- foÙkh; fooj.k ds fo'ys"k.k ds mís';ksa dk o.kZu dhft,A (Describe the
objectives of financial statement analysis) (4)

24- fuEufyf[kr leadksa ls rqyukRed ykHk&gkfu fooj.k rS;kj dhft,A
(Prepare comparative statement of profit & loss from the  following
data) : (4)

izpkyu ls vkxe
(Revenue from operation)

ldy ykHk vuqikr
(Gross  profit ratio)

iz'kkldh; O;;
(Administrative exp)

vk;dj
(Income tax)

6,00,000 8,00,000

30% 40%

40,000 1,00,000

50% 50%

Particulars 31.3.2018 31.3.2019
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11- VkVk LVhy dEiuh ,d xSj ykHkdkjh laxBu gSA
(Tata Steel company is a non-profit making organisation)

12- _.k&izi=/kkjh ,d dEiuh ds ysunkj gksrs gSaA
(Debenture holder are creditor of a company)

13- ,d lk>snkj dk nkf;Ro lhfer gksrk gSA
(Liability of a partner is limited)

14- iwokZf/kdkj va'k/kkfj;ksa dks er nsus dk vf/kdkj ugha gksrk gSA
(Preference shareholders doesnot have voting right)

15- fuEufyf[kr lwpukvksa ls 31 ekpZ] 2019 dks lekIr gksusokys o"kZ ds
fy, vk;&O;; [kkrk cukb, %
(From the following information, prepare income & (4)
expenditure account for the year ending 31st March 2019)
a) 'kqYd laxzg fd;k (Fee collected) 4,20,000

b) osru (Salary paid) 3,00,000

c) VwukZes.V O;; (Tournament expenses)  15,000

d) ;k=k O;; (Travelling expenses) 18,000

e) ys[ku lkexzh O;; (Stationary expenses) 15,000

f) fdjk;k fn;k (Rent paid) 12,000

g) Mkd O;; (Postage) 10,000

h) iqLrdksa dk Ø; (Purchases of books) 20,000

16- A rFkk B lk>snkj gSa tks ykHkksa dks 4%1 esa ck¡Vrs gSaA A vius fgLls dk
1@4 rFkk B vius fgLls dk 1@2 Hkkx C ds i{k esa R;kx djrs gSa]
tks ,d u;k lk>snkj gSA R;kx vuqikr vkSj u;s vuqikr D;k gksaxs \

(A and B are partners sharing profits in the ratio of 4:1. A surrenders
¼th of his share and B surrenders ½ of his share in favour of C, a new
partner. What is the scarificing & the new ratio ?) (4)

17- X fyå us :å 3]60]000 ykxr dk Hkou [kjhnk] dEiuh us ewY; dk Hkqxrku
:å 10 okys lerk va'kksa ds 20% izhfe;e ij fuxZeu }kjk fd;kA tujy
izfof"V;k¡ dhft,A  (X Ltd. purchased a building for Rs. 3,60,000 and
company paid the price by issue of equity shares of Rs. 10 each at
premium of 20% pass zournal entries in the books of X Ltd.) (4)

C ds izos'k ij fuEu 'krksZ ij lgefr gqbZ  (At the time of C's admission

following terms were agreed upon) :

i½ jgfr;k (Stock) dk ewY; :- 2400 Hls c<+k;k tk,A (The value of
stock to be increased by Rs. 2400)

ii½ lafnX/k _.kksa ds fy, izko/kku :- 1200 rd fd;k tk,A (Provision
for doubtful debts to be decreased to Rs. 1200)

iii½ miLdkj dk ewY; :- 3200 ls ?kVk;k tk,A (The value of furniture be
decreased by 3200)

iv½ deZpkjh {kfriwfrZ dk nkf;Ro :- 18000 gksus dh laHkkouk gSA (The
liability for workmen's compensation is expected to be Rs. 18,000).

v½ C ds }kjk vius fgLls ds fy, :- 15000 iwath rFkk :- 10]000 izhfe;e
ds uxn esa yk, tk,saxsA (C will bring Rs. 15000 as his capital & Rs.
10,000 as his shave of premium for goodwill in cash).
vkidks iwuewZY;kadu [kkrk] lk>snkjh ds iwath [kkrs rFkk ubZ QeZ
dk vkfFkZd fpëk rS;kj djuk gSA (You are required to prepare
revaluation A/c and Partner's Capital A/c and balance Sheet of the
new firm)

22 1 vizSy 2010 dks jru fyfeVsM us :- 20]000] 10% _.k&i= izR;sd :-
100 okys le&ewY; ij fuxZfer fd, tks 31 ekpZ] 2015 dks 10% izhfe;e
ij 'kkS/kuh; gSA Hkqxrku frfFk ij dEiuh us 10% _.k&i=ks dk ykHkksa esa
ls foeksfpr djus dk fu.kZ; fy;kA ml frfFk dks dEiuh ds ykHk&gkkfu
fooj.k esa :- 25]00]000 dk tek 'ks"k FkkA dEiuh dh iqLrdksa ls _.k&i=ksa
ds 'kks/ku ds fy, vko';d tuZy izfof"V;k¡ dhft,A

(On 1.4.2012 Ratan Ltd. issued Rs. 20,000, 10% Debentures of Rs.
100 each at par which were redeemable on 31.03.2015 at 10%
premium on the date of maturity. The company decided to redeem
10% debenture out of profits. The statement of profit & loss A/c had
a credit balance of Rs. 2500000 on this date. Pass necessary journal
entries in the books of company for the reedmption of debenture.  (8)

6



4

18- jksgu] pUnu ,ao dqUnu lk>snkj gSa tks ykHkksa dks 3%1%1 ds vuqikr esa
ck¡Vrs gSaA jksgu QeZ ls vodk'k xzg.k djrk gSA mlds vodk'k xzg.k
dh frfFk ij Iyk.V ,ao e'khujh] tks iqLrdksa esa :å 1]00]000 vafdr Fkk]
:å 80]000 ij ewY;kafdr fd;k x;k] nsunkj :å 20]000 ds iqLrd ewY;
ls :å 2]000 de ij vkSj :å 1]00]0000 dk Hkou :å 1]25]000 ij
ewY;kafdr fd;k x;kA vnÙk O;;ksa ds fy, :å 500 dk izko/kku fd;k
x;kA mi;ZqDr ds fy, vko';d tuZy ds ys[ks dhft, vkSj iquewZY;kadu
[kkrk cukb,A (Rohan, Chandan and Kundan are partners sharing
profit in the ratio of 3:1:1. Rohan retires from the firm on the date of his
retirement plant & machinery stood at Rs. 1,00,000 was valued at
Rs. 80,000. Debtors at 2,000 less than the book value of Rs. 20,000
and building of Rs. 1,00,000 was valued at Rs. 1,25,000. A provision
of Rs. 5,00 was made for outstanding expenses. Pass the necessary
Journal entries for the above & prepare revaluation account.) (6)

19- T;wihVj dEiuh fyfeVsM us :å izR;sd 35000 lerk va'k :å
izhfe;e ij tkjh fd;s] ftu ij ns; jkf'k;k¡ fuEuor~ gSA
(Jupiter Company Ltd. issued 35000 equality shares of Rs. 10 each
at a premium of Rs. 2 payable as follows) :

vkosnu ij (On Application)  Rs. 3/-

vkcaVu ij (On Allotment)  Rs. 5/- (Including premium)

'ks"k izFke ,ao vfUre ek¡ ij (Balance on first & final calls)

va'kksa dk iw.kZ:i ls vfHknku fd;k x;k Fkk rFkk leLr jkf'k dks
izkIr fd;k x;k FkkA T;wihVj daiuh fyfeVsM dh iqLrdksa esa jkstuk
epk izfof"V;k¡ dhft,A (The issue was fully subscribed and all the
money was duly received record journal entries in the books of
Jupiter Company Ltd.)

20- fuEufyf[kr n'kkvksa esa _.k&i=ksa ds fuxZeu ds fy, tuZy izfof"V;k¡
dhft,A (Give journal enteries for issue of debenture in the
following cases) : (6)
a) ,d _.k i= 95 ij fuxZfer gqvk rFkk :å 100 ij 'kks/ku fd;k

tk,xkA (A debenture issued at Rs. 95, repayable at Rs. 100)

                vkfFkZd fpëk (Balance Sheet)                  (8)
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b) ,d _.k i= 95 ij fuxZfer gqvk rFkk :å 105 ij 'kks/ku fd;k
tk,xkA (A debenture issued at Rs. 95, repayable at Rs. 105)

c) ,d _.k i= 100 ij fuxZfer gqvk rFkk :å 105 ij 'kks/ku fd;k
tk,xkA (A debenture issued at Rs. 100, repayable at Rs. 105)

d) ,d _.k i= 105 ij fuxZfer gqvk rFkk :å 100 ij 'kks/ku fd;k
tk,xkA (A debenture issued at Rs. 105, repayable at Rs. 100)

e) ,d _.k i= 105 ij fuxZfer gqvk rFkk :å 105 ij 'kks/ku fd;k
tk,xkA (A debenture issued at Rs. 105, repayable at Rs. 105)

f) ,d _.k i= 100 ij fuxZfer gqvk rFkk :å 100 ij 'kks/ku fd;k
tk,xkA (A debenture issued at Rs. 100, repayable at Rs. 100)

izR;sd _.k dk vafdr ewY; :å 100 gSA (The face value of
debenture in each case is Rs. 100)

Hkkx & ^c* (Part- B)
21- A rFkk B  lk>snkjh gS tks ykHk&foHkktu 3%2 ds vuqikr esa djrs gSaA

mUgksaus C dks 1@6 Hkkx ds fy, izos'k fn;kA izos'k dh frfFk ij mudk
vkfFkZd fpëk fuEu izdkj FkkA (A and B are partners who share
profits in the date of adminission, their Balance sheet was as follows)

nkf;Ro (Liabilities) lEifÙk (Assets)jkf'k
(Amount)

jkf'k
(Amount)

iwath [kkrs (Capital A/c)
A - 20,000.00
B - 15,000.00 35000

lkekU; lap; (Genl. Reserve) 40,000

deZpkjh {kfriwfrZ dks"k
Workmen Compensation Fund 15,000

fofu;ksx mPpkop dks"k
Investment Fluctuation Fund 8,000

ysunkj (Creditors) 10,000

ns; fcy (Bills Payable) 2,000

1,10,000

e'kujh (Machinery) 18,000

miLdj (Furniture) 15,000

jgfr;k (Stock) 12,600

nsunkj (Debtors) 30,000
Less Provision 16,00 29,000

izkIr fcy (Bill receiveable) 2,400

jksdM+ (Cash) 13,000

ykHk&gkfu [kkrk (P&L A/c) 8,000

foKkiu mPUr [kkrk 12,000
(Advertisement Suspense A/c)

1,10,000
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